Algebra II


Quiz 3.1 – 3.2 Form A

Answer the following and document you path to solution.

1. Write as a power of 3:       34 * 36


2. Simplify 3 * 43


3. Evaluate when x = 5;        170(2x)


4. Which function is the greatest at x = 4?
[A] f(x) = 3 * x2

[B] f(x) = 2x
[C] f(x) = x2

          [D] none are greater than the others


5. Evaluate the expression:  
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6. Write as a fraction and simplify:  
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Simplify using the properties of exponents:
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11. The cost of a movie ticket in a large city has increased exponentially over the d decades since 1953 when records were first kept. A function that models the cost is C = 1.25(1.5)d.
a) Rewrite the equation to give the cost of a movie ticket in terms of y years after 1953 instead of d decades.
b) Use your equation for part a to estimate the cost of a movie ticket in 1996.

c) Open Ended:  Do you think your estimate in part b is reasonable? Do you think the function will give a reasonable estimate for ticket cost four decades from now? Explain.
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